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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt of this question paper.

2. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. (a) “Previous year as well as Assessment year are financial years yet they are

not the same”. Discuss. (5)

(b) Mr. A, an Indian citizen, who is appointed as a technical consultant by the
Government of Canada, leaves India for the first time on September 25,
2014 for joining duties in Canada. He furnishes the following informations in

respect of his income for the previous year 2014-15 :

— Salary from an Indian company while posted at Mumbai (before leaving
India): 5,00,000

— Salary from Government of Canada equivalent to Rs. 40,00,000.
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(2)

(b)

2

— Interest received from Government of India (It is paid to him in Canada,
the money is utilised in a project outside India) Rs. 200,000.

Determine his residential status for the assessment year 2015-16 and compute
his taxable income for the aforesaid year. 5)

Explain the scheme of partial integration of agricultural income with the total
income for computing tax liability. ()

OR

Mr. Z, a British citizen, whose Grandfather was born in Delhi in 1945,
comes to India every year to celebrate Diwali with his friends. During PY
2014-15, his stay was for the period from Ist Nov 2014 to 31¢
Dec 2014. | »

His stays in India during last 7 years are as follows :

Py 2013-14 1** Nov 2013 to 25" Dec 2013
Py 2012-13 1% Nov 2012 to 25% Jan 2013
Py 2011-12 1% Nov 2011 to 12 Jan 2012
Py 2010-11 1* Sept 2010 to 10™ Feb 2011
Py 2009-10 I Sept 2009 to 31% Dec 2009
Py 2008-09 I Oct 2008 to 15% Feb 2009
Py 2007-08 1* Oct 2007 to 15% Jan 2008.

Determine his residential status for the AY 2015-16. (5)

B

State with reasoning whether the following incomes are Agricultural
Income or not.

(1) Income from sale of trees grown spontaneously in assessee’s farm
in Punjab.

(ii) Income from Dairy farming.

(iii) Rent received from a tenant to whom land has been let out for

cultivating wheat.
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(iv) Income from growing flowers.

(v) Income from breeding of livestock. &)

(c) Discuss briefly the term ‘Person’ u/s 2 (31) under the Income Tax act 1961. - 3
. 3
(5) &

() R @ sie e & Freiien o ek o ¥ i 0 3 w181 8 1 R AR | |

(@) Rt A ¥RE 1 AWRE B | I§ HAR N WHR A TEHieh! TABHR & & A ged
foa TR © | 98 WEel WK 25 REeR 2014 R A § e W 9 & g vRa B \

T I o | 98 fiow ad 2014-15 & Te s s @ geiw # Fefofan geew I %
B |

AR o HAA A W AT, T IEHT AN Fog A oA 5,00,000 %. \

AR & WER A a9 40,00,000 < 1 | |

HRA WER A 200,000 & =01 Wit Forvarn (9 3@ wverer | fean w3k @e iy |
HRE A e Y qRarer ¥ e ¥ o ) |

Jaa R & 2015-16 & forg Rt Ry = Fufor 2w st s av
= o1 Sue o A s @ SR i |

(1) aﬁaﬁawaﬁmmﬁ%fﬁvmmwmm%m Ww%a%
Ao Y SR R |

Jr2xar |

() firex 2’ fs=r o1 AInRer # | Faeht ot foeett ¥ 1945 W= o1 | 98 & a9 S0 \
e & ar fRareh 7 e o 2 1 fred o 2014-15 % SR 98 1 FER 2014 ‘ e
¥ 31 RE®R 2014 T ¥Ra A T A1 | L——
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9% fU=d 7 9ol A 29 WK ¥R | 6l :

o af 2013-14 ] FiEX 2013 ¥ 25 RE*R 2013 @
fUoa ad 2012-13 ] FER 2012 ¥ 25 S=ad 2013 T
fIeat ad 2011-12 ] AEsR 2011 ¥ 12 9=aQ 2012 9%
s @t 2010-11 1 Rrdfsrk 2010 & 10 w&EQ 2011 %

fisa af 2009-10 1 fader 2009 & 31 &R 2009 T
fizat av 2008-09 1 3R 2008 ¥ 15 wad 2009 9

fis ¥ 2007-08 1 @R 2007 ¥ 15 =& 2008 e
fruftor ad 2015-16 & fow IEant smaria Rafa = Fuko =ik |
(@) TR IIR Feor@ wo fon Felcilae s gitea sm 2 @ 7@

(i) gel < foeil A s o dome ¥ FiRE @ wE A QAfow w1 A 9T I A
(i) 3o Wi &
(iii) forger ¥ wrr oo e A I & forg W fme w @ o

(iv) e I | ™
(v) 99u9 I ¥ S

() o wR SRR 1961 & Siedia oW 2(31) B Ew ‘A’ we = werd A fererer
Y | |

Mr. X, aged 40 yrs, residing at Mumbai working as marketing manager received
Rs. 6,00,000 as basic pay and Rs. 1,20,000 as bonus and 50,000 as DA
(forming part of basic pay). He also receives 1% commission on turnover
achieved by him. During the year he made sales of Rs. 90,00,000. He also
received Rs. 2,40,000 as HRA during the year. He paid Rs. 2,40,000 as rent
for his house. He contributed Rs. 120,000 towards his recognised provident
fund A/C to which his employer also made matching contribution. The amount
of interest credited to this during the PY 2014-15 @ 10% comes to Rs. 40,000.

N
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He also received Rs. 300 per month per child as education allowance for his
three children. He was provided with 1600 cc motor car with driver facility
by his employer. It was used by Mr. X for both personal and official purposes.
During the 2014-15, Company gifted Mr. X a wrist watch costing Rs. 15000
on his birthday. X’s employpr company paid Rs. 2000 as Professional tax on
behalf of X. He raised interest free loan of Rs. 20000 from the employer on
1-4-2014 to buy furniture. During the Previous Year, Mr. X contributed
Rs. 20,000 towards Public provident fund. He also paid the following LIC
premiums during the year

On his own life; amount of premium paid; Rs. 9000, sum assured: Rs. 80,000,
policy taken in January, 2015

On the life of his married daughter: premium paid: Rs. 14,000, sum assured
Rs. 1,00,000 policy taken in September, 2014.

On the life of mother dependent on him: premium paid: Rs. 2000, sum assured:
Rs. 50000 policy taken in March 2014. Besides the aforesaid payments, he
donated Rs. 20000 to National Defence Fund.

Determine his Total income and tax payable for the AY 2015-16 assuming he
earned an interest of Rs 30000 on his saving bank A/C maintained with State
Bank of India during 2014-15. (15)

OR

(a) Briefly explain the provisions relating to tax treatment of Gratuity received
by an employee covered by the Payment of Gratuity Act, 1972. = (5)

(b) Illustrate provisions of the Income tax act relating to tax treatment of
commuted pension. (5)

(c) Briefly explain the provisions of Income Tax Act regarding valuation of
rent free accommodation provided by employer to its employee.  (5)

firer X o 39 40 a¥ ? | 98 WS A W B 3K I weue & w7 A wE AR ¢
I 600,000 & F T 3R 1,20,000 & FE T 50000 T FHEE WA Frewan B (FEME
1 el I I AT BT B) | I D BRI IR A R 1% e o faeran 2 )
%@ ad & IR I8 90,00,000 T W faeht & 1 I¥ T\ A 2,40,000 w5 o st

PT.O.
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ff fier | SE o we & forw fERe @ w1 H 2,40,000 = R SE s AT
wfesy fAfer o & fow 1,20,000 & o1 antem foran o o o Faera 3 o e &y
AR &1 Are fomar | Py 2014-15 & SR sa@d o g 70 =t &t afdr 10% & =
¥ 40000 & BN B 1 I 300 T vfowe wft wew & fow fen-w & w1 ¥ W g9
e S e QT Sl 9 7 1 S¥ 1600 ce F AR wR W QT 3R A gw
SER I gl o7 € | ggent A freer X T afraa ik wend 3w ¥ R 2 1
= fieer X &t ad 2014-15 & SR 3% W {da@ W Uah 81 9t T8t IUER | o foraant
AR 15000 % B 1 X o Faier - ae it 9 X 9 SR A EEded aR @ ' A7 2000 ©
31et fohy | I weR @de & g 1.4.2014 =t Flear @ 20000 & &1 e SUR
forar 2 1 fisa ad fiker X = adwifer wifgss Afa § 20000 = &1 areE R 2 1 S
g v ® ffafaa LIC s ot fog 2

I Iqh e ) : {3y g Wit @@ afE 9000 w; S iR 80000 w; Hiferdt SHEd |
2015 | <t E A |

Iaet faaifea 98 & Wieq W : WifEs far 14000 &; <9 wfdr 1,00,000 &; diferdt fder
2014 &t o TE |

Iq W R A & st @ difimw e 2000 €; €@ afdr 50000 & difed e 2014 #
o TE A | I SEEfE & SEmEr Ia 20000 & g geen [ F e fig

Jaaht Fulor af 2015-16 & o0 @ 3@ 3R 3 o o Fuior S, a8 wme e Sa
2014-15 & SRF RE 9 3h AT A @iel Y &9d S @ W 30000 & =161 it forar & |

3=adl

(%) Fg=dl SRt e 1972 & AR U et ol el J95E W & o &
Hafera STaeaisl o g8 W @R d |

(@) TarRa Yo 9 R ITER W elerd TR ST & IrEaH a9 B | Sesi
BRI T Hiford |

(31) A 3 SEs wRal @t i e e wea stam & e | dafd s |
R e ) Eenst Fi gad W SR S |

(a) Mr. X has occupied two houses for his residential purposes. Particulars of
these houses are as follows:
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House I House II
Municipal valuation 90000 30000
Fair Rent 80000 32000
Standard Rent 75000 36000 .
Municipal Taxes Paid 10% 10% "
Fire Insurance 6000 360 ‘

Construction of both the houses were completed in 10™ July, 2012, however ‘
X had to borrow Rs. 20,00,000 @10% pa for the construction of house-I \
(Date of borrowing’s July 1, 2009). Loan is still unpaid. ‘

Compute his taxable income and tax liability for the AY 2015-16 assuming &
that his other incomes are 4,50,000. (10) ‘

(b) Define ‘Capital Asset’. State whether the following are capital asset or \
not :

(i) Gold held by Jeweller. |
(ii) Right to subscribe shares. ’ \

(iii) Personal Mercedes Car (5)

OR

(a) Mr. X sells his residential house property situated at Delhi on 1st August |
2014 for Rs. 20,00,000. Its stamp duty value is Rs. 25,00,000. Expenses
on sale come to Rs. 20,000. The house was purchased on 15" Oé,t,x1984
for Rs. 50,000. He incurred Rs. 1,00,000 during 87-88 on the renovation
of the house. Mr. X purchased a residential house at Faridabad for
Rs. 12,50,000 on 1*t May, 2015. Compute the capital gains chargeable to =
tax. Cost Inflation Index for 1984-85 is 125, 1987-88 is 150 and 2014- ‘
15 is 1024. Also state the conditions to be fulfilled by Mr. X to avoid o
withdrawal of aforesaid exemption. (10)

=

(b) Briefly explain the deductions alowed U/S 24 from Annual Value while P
calculating Income from House Property. (5) W|
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(F) FRX X 7 30 & & e @ e o @ F 1 3 el @ freor 58 veR 2

HEHA | TH 11
HHTa i 90000 30000
Sfra e 80000 32000
wHE 75000 36000
HRRT-aR Ry 10% 10%
T e 6000 360

AR A Pl w10 e 2012 F @ A W ow ) gAR X @
20,00,000%. =1 s 1 o oior & forg 10% wfer af o) =% @ =0 o
(F=0T o o T 1 emE 2009) | 0T 30 g o 2

Fafeor af 2015-16 & fore 388 &= A 3@ Sk T - =g w5 AT T
g A o feh I 37T I 4,50,000 & 9 F |

(@) @WW@@WWIWW%W@WW%m
&

(i) SAeR & U |
(ii) 20 % e @ SR
(iii) =afermTa ST &R

MREI

() Frwet X st feeeht % o sraria I -=afy Y 20,00,000 . ¥ 1 3Are 2014 =
ST 31 2 | 3 T U A 25,00,000 % 2 1 st W fR e @ 20000 T
¥ 178 W 50,000 & ¥ 15 FHCER 1984 1 @AeT T AT | IaY 1,00,000 & &
1987-88 ¥ T & Tl W @d fRT ¥ | fieer X X 1 7 2015 9 12,50,000
ﬁﬁ’wﬁﬁmﬁrwmﬁmﬁaﬁmlmiﬁmwwmaﬁﬁq
18 o o6t @ 1 1984-85 @ o s - =R gEeE 125, 1987-88 F 150 3K
2014-15 1 1024 2 | 919 B Iuded e D 999 9 A 9 & e free X w0 e
Al G0 HEAT TRY, Ieora FTT |
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Tl e e § SR g |

From the Profit and Loss Account of Mr. R (age: 45 years) for the year
ending March 31, 2015, ascertain his total income and tax liability for the AY

2015-16:

General expenses
Bad debts
Advance tax
Insurance

Salary to staff

Salary to Mr. R

Interest on overdraft

Interest on loan from Mrs. R
Interest on capital of R
Depreciation

Advertisement Expenditure

Contribution to employee’s RPF

Net profit

Other information :

Rs.
9500
12000
6000
600
24000

60000

3600

36000
23000
50000

7500
12500

316400
561100

Gross profits

Commission

Brokerage

Sundry receipts

Bad debts recovered (earlier
Allowed as deduction)
Interest on debentures
(net amount Rs. 22500 + Tax
deducted at source: Rs. 2500
Interest on deposit with a
company (13500+1500 TDS)

Rs.

450500

9600
40000
3000

18000

25000

15000

(i) The amount of depreciation allowable is Rs. 42000 as per income tax
Rules. It includes depreciation on permanent sign board.

(ii) Advertisement expenditure includes Rs. 3500, being cost of permanent

sign board fixed on office premises.
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(iii) Income of Rs. 4500, accrued during the previous year is not recorded in the

profit and loss account.

(iv) Mr. R pays Rs. 8400 as premium on OwWn life insurance policy of Rs. 70000

policy taken during the PY 2014-15.

) Rs. 1500. Given to Mrs. R for arranging a

(v) General expenses include (a
who has recently come from New Zealand,

party in honour of a friend
(b) Rs. 1000 being contribution to a political party.

(vi) Loan was taken from Mrs. R for payment of arrear of income tax.

(15)
OR

(a) Discuss the tax treatment of the following transactions/receipt reported

by Mr. X during the previous year 2014-15;

Interest on enhanced compensation received
on march 12, 2015

Advance forfeited on failed transaction of transfer

of capital asset on December 10, 2014

Rs. 100,000

50000

_ Share of profit from HUF 50000

— Winnings from lotteries (net) 35000

20000
(5)

d accountants) for

_ Dividend from an Indian company

(b) Profits and loss A/C of AB & Co (a firm of Chartere
the year ending March 31, 2015:

Depreciation 1,50,000 | Receipt from the client

and audit fees 5,00,000
Expenses 2,00,000 | Dividend From Foreign Cos. 1,05,000
Remuneration to the partners 4,00,000 | Net Loss 2,50,000

Interest to the partners @15% pa 1,05,000

8,55,000 8,55,000
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Other information’s :(—

(i) Out of expenses of 2,00,000, Rs. 70,000 is not deductible by virtue
of section 36 & 37.

(ii) Dépreciation admissible as per Section 32 is 1,35,000.
(iii) The Firm satisfies all the conditions of section 184 and 40(b).
Find out the amount of Net Income of the firm for the assessment year

2015-16. (10)

firer R (311 : 45 ¥) & ot SR B o @ 3] W 2015 @ T B 9 a9 &
frg Seat oo aw 2015-16 & forg wa s 3R = wrfae =t Frifwr Hfw |

A @™ 9500 W& H 450500
TeA 00 12000 EE 9600
Fim o 6000 3T 40000
El| 600 fafqer witaat 3000
FHARA @ qaqT 24000 A w=w a@w ¢ (AW
TG TEe wligd @t T o) 18000
figex R &1 @ 60000 FRe=RI W == |
- (Fw T 22500 + A
® @ @ AR 2500%€) 25000
ARGR W AW 3600 FE A TH W AR |
(13500+1500 TDS) 15000
et R ¥ /0 W AW 36000
R & IOt W &S 23000
A T 50000
ferme kGl 7500
FHA RPF X AR 12500
et 316400
561100 561100
P.T.O.
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I qIA -
(i) e s o AR R FEE & SR 42000 & B | S8R TRl AiEA S
R A A € |

(i) fomma & = | 35006.3@6%6&%@%@#@1@@%@7@7& :
AT AR 7

(iii) Frest = Safm 4500 T 9 o, T S wRT A F Remd T A E

(iv) faez R 70000 % @t Siee S diferdt ® 8400 © WfEw a1 & S wifer frsw 7w
2014-15 % & 5 o0 |

(v) wmr = ¥ () 1500 T Wi € s e R @ & i & TR 9§ qiel st
e wY @ B Ry e, W ww & ¥ e @ smn 20 (|) 1000 ®
TR &t st f3g 1Y |

(vi) seRmEn s o semRt & forg fd| R @ =0 feran e o |
Tt

(@) firex X g & RaeE & FaR faow a0 2014-15 ¥ frg g SeeAl /wiftaal TR &R

Y Argan <t faeEEr i | |
- werd T AR W e 12 A 2015 6 e ga 1.00,000%
_ 10 feR 2014 9 Yol aRETRT @ ST & IEE

SR TR AR T R A MR © 50,000 &
- HUF ¥ @™ =l fewa 50,000 &
- WeRdl A o g i (Fae) 35,000
- 9RO wAE | W AR 20,000 =.

(@) AB QUS FE (FEE SISO W T W) 31 A 2015 = o g¢ 9 &
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T W 1,50,000 | Tmeenl A et SR

ol qAen ek 5,00,000

@ 2,00,000 | fRs i ¥ wmIR 1,05,000

qEER &l wiRsfien 4,00,000 | Fee i 2,50,000
s W 15v% R W o
& W A ;A 1,05,000 .

8,55,000 8,55,000

I AN

(i) 2,00,000 & & &= A & 70,000 T U 36 ﬁt_37%w¢%aﬁaﬁ% |

(ii) oRT 32 & AR THE T TE 1,35,000 TR
(iii) wF awr 184 3R 40(b) = T T A wEfe TR B |

ﬁa&maﬁzols-w%ﬁvmﬁﬁﬁaﬁmmﬁmn ﬂ

5. Attempt any Three: \

(a) When an individual is assessable in respect of income from asset’s

transferred to the spouse {section 64(1)(Av)}.

(b) Discuss the provisions of set off and carry forward of loss from House
Property. ‘ \

(c) What is the time limit for filing up of return of income under the income

tax act ?

(d) Briefly explain when audit of account by certain person is compulsory under

section 44AB.

(e) Deduction in Respect of rent paid (Section 80GG).

e law of CIT Vs Raja
(5%3=15)

(f) Briefly explain the judgement delivered in the cas
Benoy Kumar Sahas Roy.
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Fforiaa % @ el S = i

() gt @l SfaRa uReuf@l 4 8 aell s & qag ¥ A o9 o WU B 2
(URI 64(1)(iv))

() e wal ¥ w1l A FRA A SN e weeh et el e #HiR |
(1) s R s & S s w Rest e a & fog e S o @ 7

(1) @& | awen Sk fF ey wfed g/t o) & o) TET OR 44AB @ siaeta
e B 8 ?

(¥) =< femm =& 9y ¥ s (a)t 80GG)

(&) CITsAm Ton feAla AR @ed 1@ & od & % e v folg o g8g 3 =wen
I |

(1000)




